Sample Question 3 : The percentage of marks obtained by 100 students in an
examination are given below:

Determine the median percentage of marks.
Solution :

Here, n = 100.

Therefore, % = 50, This observation lies in the class 45-50.

[ (the lower limit of the median class) = 45

cf (the cumulative frequency of the class preceding the median class) = 48
[ (the frequency of the median class) = 23

h (the class size) = 5

=45+ (50_48)x5
23
_a5+ 10 _4s4
23

So, the median percentage of marks is 45.4.

Hint: The cumulative frequency of a class is the frequency obtained by adding
the frequencies of all the classes preceding the given class.



